1

454128 15H

HERTRREN
FHSE12AH HX-HUFHIZONT
RODEEY . AR -BMF LHZHELETDOTEHLELFEY .
— BRI K - Eh S F =
SHS5E128 [A] SF4E128 [B] = [Al—[B]
XA RER 7,866 A 7,833 A 3BA
T XHALE 873,876 M 845,304M 28,572M
1Y F 4i%4R 41i%2R 2H
XEITABE. FERREBERUKHEEERBEZR
(%]
—RBOHR - BMFLOXMESOHEBITONT B ASH)
6 A A 12A#A FH
KFSEE 2.200 2.300 4.50
SHAEE 2.150 2.250 4.40
TMRFEDFIBROBERF Y
i SHSE12AXBEEASH4E12AXHKR%EB]| = % [Al-[B]
il E 3,140,100/ 3,003,574 136,526/
2 W OE 2,570,922 2,459,143 111,779
5 E 2,210,718 2,114,600 96,118
E Eﬁéé g 1,795,521 1,717,455M 78,066
[(3%]
TREBHHIBOYRF LOXMBESOHBICDOLNT (B A5)
6 A A 12A#A &
KFSEE 1.625 1.725 3.35
SHAEE 1.600 1.650 3.25




3 WMEBELSEBEOHXRFY
H& SHMSFE12AXZMKREE[Al| Sf45E12 8 Z4h%E(B] = #E[A]-[B]
= £ 1,976,712H 1,891,996 84,716
2l =& 1,809,237H 1,731,698 77,539
1 =] 1,700,125H 1,627,262 72,863
(2&]
ESFENHRFEDZRIEDHZIZCOLNT (Bh:By)
6 A 12 B # RS
SF5EE 1.650 1.750 3.40
SHMAEE 1.625 1.675 3.30
4 BXHRESE
(1) #xxtA%E 691%6,736 5 [
(TREEHNEFIBEVTESEEZEST,)
(2) X#H SH5%128188(A)

B

2 A

B

042-769-9236 (E @)

TEREEOREFICDOLNT
E?JZKHIIIS\%%E%

042-769-8277 (EH @)

TMRFEIFNBR VO —RBOZBEFITONT
AE-HEER w5




